in
ju |
FH
H

B W W W & K& W
T

o
B B
i

3

iE

H

ﬁ’lﬁmﬁh-)ﬂ

i
8

E EEN®E >

2%

oM o

2R 5 1% 7= AR IE B
& S: 2020312313000302
ROSE Systemtechnik GmbH
Erbeweg 13 - 15, 32457 Porta Westfalica, Germany
ROSE Systemtechnik GmbH
Erbeweg 13 - 15, 32457 Porta Westfalica, Germany
Phoenix Mecano (India) Private Limited
Plant - 1ll, GatNo 408, 410 & 412, \Village Urse, Taluka Maval,
Talegaon Urse Road, Dist Pune - 410 506 India
FHh5E
e

Ex eb IIC Gb, Extb IlIC Db
GB/T 3836.1-2021, GB/T 3836.3-2021, GB/T 3836.31-2021

BisUEIE + MR T RE + IR IS

BRFERSS CNCA-C23-01: 2019 (EFIIEARIAECIERR FHIRES)
#1 CNEX-C2301-2019 (3t RIAESCHEAAN BHIREBS) AIER,

FRAEXERRME (3 /) .
BRAUEEER: 2020611 A 13 H

A& EER: 2023401 8 14 H

EWEAE: 2025511812 H

IESEHBAFEBNEN I RELENESER R ERE RN,

CNEX

cccC

/&“ﬁfi}\ Al 2

ir

Ve

# PRSI m\’—ﬁﬂfjﬁﬁﬁr@/ va) NSt

Mk : www.ccc—cnex.com Hodit: PEAEAEAHMEILEE20S BRI 4RAY: 473008

ccc.china—ex.com

cN 0022394

Hi5: 0377-63239734 MBFE: ccc@cn-ex.com



H

<

ZR 5 il 1 7 Am WA EE 5
( Bff 5T )

& 2 2020312313000302

@ =

FRIEXER:
1, NEPEETRT:
AR :

26' %k *% *%
(1) (2) (3) (4)
(1) : BS, MEHRE

(2) : BFTRES (ML)
(3) : KE¥F, AT RES
(4) . BR¥F, WATFRES

al 26 kkkdkk

HERF-RES
A2 26.08 08 06 = 26.41 40 20 £ (mm) | B(mm) | E&(mm)
(Ex #fESNT)
=N 80 75 56
=A 400 405 201
AIE 26.88 01 00 Z 26.88 04 00 £ (mm) | B(mm) | &(mm)
(Ex-Okta f&-715%5)
=/ 81 81 75
BX 200 200 128
RIS 26.14 01 00 Z= 26.14 03 00 [ & (mm) [ B(mm) | B(mm)

A BHEA: 2023401 B 14H

Y i e
= < )

= N
ﬁ & Q’// AP T
| mmRpR R SR RA R Co tes.

Moyib. EAREAFEAHMSEILE205
HiE: 0377-63239734

ccceC

MBEL4R%D : 473008
MB#E: ccc@cn—ex.com

RHE: www.ccc-cnex.com
cce.china—ex.com



-H

( BfF T )

& B: 2020312313000302

X 5 il 1% 7 fn WA EIE B

F2mWH3IMA

(Ex-EpEREERL-91M75)
=0 270 170 136
B 541 270 136
RIS 26.12 20 00 Z 26.40 60 00 £ (mm) | B(mm) | F(mm)
(INBURZ 1% Ex INEFTR I Ex M%)
B/ 200 120 100
Bk 405 605 252
RS 26.0122 15 = 26.0144 15 £ (mm) | B(mm) | &(mm)
(Ex HEHEINS)
=/ 177 177 145
BXx 360 360 145
NERE:

-55 °C~+127 °C PGB

-40 °C~+100 °C HE SR E

-40 °C~+100 °C HREELRB

-20 °C~+85 °C &, T IREEE
-20 °C~+100°C HI e

-50 °C~+100 °C & mono duro clear 8099 & PC &, S8
XX °C~+105°C 457 Ex-EyBEs8E-oh5s, INBIRZIE Ex SNSRI % Ex I (&R

IINBEBURA T ERNEE)
PHIPZEL: IP66

HuERe S . M6x60, M8x50, M10x60, M12x80

BigkR: Exeb lIC Gb, Extb IlIC Db

AZBHE: 2023501 B 14H

KSUEEN

A, &
=

vee " PR R

£ % 3

AN
V4

Sk 7’%7"\%

AP

= =5
T a AT e e,

Mt : www.ccc—cnex.com Hudik. PENEAEETA=EIRE20S

ccc.china—ex.com FHiE: 0377-63239734

MR EI4RAT: 473008
HBFS: ccc@cn—ex.com



H

Z 5 il 1 7 mm WA IEIE B
( BT )

& 2: 2020312313000302

- P R NI A SRR T,
2, RefERAFH:
- FERSTHRIMERE AT WIRIB—S T,
- Hfth =R AR,
3. IERXEIRS:
- FrRERIRISRE: CQST2006C005G, CQST2006C005G/01
- T tasEiRs: CN2020Q010255
4, FPEEER:

- 2023401 14 8% 1 %%FE:
1) FRIANHKEIREEE.,

Mk EHE: 2023401 148 -
//z&;\xﬁf)z EfE 2!% ™~ i‘
ﬁ \@ QI// AP Ll

oo AR BB A RA T CVAS e,

MHE: www.ccc—cnex.com Motk PEAEEFEATMEILE20S BB B 4RES: 473008
cce.china—-ex.com HiE: 0377-63239734 HBFH: ccc@cn-ex.com




